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QUESTION 1

MPLS APS is a network protection mechanism. It implements service switching by using the MPLS OAM detection
function.

A. True
B. False

Correct Answer: A

QUESTION 2

Which of the following monitoring boards do not support 1588v2 signal processing and transparent transmission?
A. AST2

B. SC2

C.ST2

D. SC1

Correct Answer: A

QUESTION 3

The overhead ratio is a factor that affects the error correction capability of the FEC technology. Generally, when the
same FEC encoding/decoding is used, the higher the overhead ratio is, the larger the net coding gain is.

A. True
B. False

Correct Answer: B

QUESTION 4
Which of the following statements about AU pointers are correct?

A. The root cause of the AU pointer justification is that the clocks of the upstream and downstream stations are not
synchronized.

B. AU_PTR indicates the position of the JO byte.
C. If the receive end detects that the H1H2 bytes are "1", the local end generates the AU-AIS alarm.

D. The value of the AU-PTR pointer is placed in the last 10 bits of the H1 and H2 bytes. Therefore, the valid value of the
AU-PTR pointer is 0~1023.
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Correct Answer: C

QUESTION 5

Which of the following is approximately equal to 100mw?
A. 13dBm

B. 20dBm

C. 15dBm

D. 10dBm

Correct Answer: B
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